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25. Which of the following protected areas are 

located in the Narmada river basin? 

1. Nauradehi Wildlife Sanctuary 

2. Melghat Tiger Reserve 

3. Guru Ghasidas National Park 

4. Tadoba National Park 

Select the correct answer using the code 

given below. 

(a) 1, 2 and 3 only 

(b) 2 and 4 only 

(c) 1, 3 and 4 only 

(d) 1, 2, 3 and 4 

 

26. PM CARES Fund recently seen in the news, 

consider the following statements: 

1. The Minister of Home Affairs is the ex-

officio chairman of Board of trustee of 

fund. 

2. It provides support and relief measure in 

case of natural as well as man-made 

calamity or distress. 

3. The fund is audited by the Comptroller 

and Auditor General of India in every 

financial year, 

Which of the statements given above is/are 

correct? 

(a) 1 and 2 only 

(b) 2 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

27. Which of the following is/are white blood 

cells? 

1. Neutrophils 

2. Lymphocytes 

3. Basophils 

4. Erythrocytes 

Select the correct answer using the code 

given below. 

(a) 1 and 3 only 

(b) 2 only 

(c) 1, 2 and 3 only 

(d) 1, 2, 3 and 4 

28. Sustainability in agriculture can also be 

increased through the role of legumes in the 

cropping system. Which of the following are 

the advantages of legumes? 

1. It helps in nitrogen-fixation. 

2. It helps in solubilization of Phosphorous. 

3. It inhibits soil microbial activity. 

4. It decreases mycorrhizal colonisation. 

Select the correct answer using the code 

given below. 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1, 3 and 4 only 

(d) 1, 2, 3 and 4 

 

29. With regard to which of the following 

Mahatma Gandhi and Jawaharlal Nehru 

were in agreement? 

1. A technology-driven modern economy 

2. Personal religion 

3. Parliamentary form of government 

Select the correct answer using the code 

given below. 

(a) 3 only 

(b) 1 and 2 only 

(c) 2 only 

(d) None 

 

30. There is a divergence between the Wholesale 

Price Index (WPI) and Consumer Price 

Index (CPI). What may be the possible 

causes for this divergence? 

1. CPI basket consists of services such as 

housing and education, which are not a 

part of the WPI basket. 

2. WPI does not include indirect taxes 

while CPI includes it. 

Which of the statements given above is/are 

correct? 

(a) 1 only  

(b) 2 only  

(c) Both 1 and 2 

(d) Neither 1 nor 2 


